MULTIPLICATION: NEGATIVE DECIMAL NUMBERS (H - SET 3)

TWO DIGIT DECIMAL NUMBER 1;?:: Soomer
o —0.1 x (—0.58) = 0 —=0.2 x (=30) =
0 —0.7 % (—6.3) = w0 —0.08 X 6 =
13 8 x (—0.0041) = 08 —5 X 6.4 =
304 0.0003 x (—0.0072) = 109 —0.07 x 0.0015 =
95 8 X (—64) = 4100 0.001 x 0.074 =
36 0.5 X (—0.0094) = ) =3 x (=28) =
97 0.009 x 0.0055 = ) —1 X (=72)=
3% 0.002 x 33 = 13 —0.1 x 0.007 =
19 7 % (—0.059) = a9 0.7 x (=5.7) =
00 —0.02 x (=78) = 15 —(0.003 x 8.1 =
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0.0004 x (—0.091) =
—1 x 28 =

1 x (—38) =

0.2 x (—0.0044) =

10 x 0.77 =

Mathematics: Multiplication - Level 7 - Horizontal - Set 3
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—0.0008 x (—0.046) =
0.004 x 0.0067 =

—10 X 5.2 =

—0.002 x (=0.17) =

—0.01 x (—0.012) =
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